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INSTRUCTIONS TO CANDIDATE

1. The Question-booklet contains 760 objective type questions. The candidates must attempt all
$he questions, There is wo negative marking . :
¥ NG | 100 wre v Y R 1 el &) it e @t &
woRr 3T 3 T 31 At w3

% NoSecond Question Paper Booklet OR Answer Sheet will be given to the candidate
nnder gny cireumstances whatsoever.
mﬁm i wigeell ® g Wy o qfeNeT Y IT- 9T 97 AT

; .

3. The candidate within 10 minutes of the issue of question paper booklet, will check up and
ensure that it contains all the pages and no page is missing. In case of missing page(s), the
candidate shoufd réport to the lnvigitator and get it changed other for a complete Question
A e e & 10 fre 3 IR & el 9 v & S IR B
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4.

10.

I1.

il.

r

The candidate will write Roll Number only on the Cover Page and on the Answer Sheet of the
question paper booklet at the places provided for the purpose ahd nowhere clse, otherwise
the candidate will be disqualified in the Entrance Test.

sl - e & Aays WSk ST ¥ e W W A e
S o, s e e wiendt v when & e S fean s

Do not write your Roll No. OR Name inside the Booklet.
QT & 35T 3G AR WA S A |

There shatl be no erasing or overwriting in the answers given on the Answer Sheet, in which
¢ase such answers shatl be deemed as incorrect.

-7 W o 19 dafous 39U @ fiEE a1 Qe foar & T T S @,
iy ¥ frfy ¥ srffed sodt A g AW far e

Use of log tables or calculators is not permitted.
o TR Wty W & S @ s T e

No candidate will be permitted to cnter the Examisation Hall after the expiry of 30 minutes
from the commencement of the Entrance Test.

e e B 3 30 (e A fe) off SOw @ v e # e F s
T & s |

Neo candidate will be permitted to leave the Examination Hall until the expiry of two

hours from the commencement of the Enfrance Test.

qfaT ST 7 & &) uver did w1 av ¢ e gt i wigr v 8 gt
&1 At gt

Candidate will not being any loose paper, whether written or blank, inside the Examination Hall

except the Admit Card.

i B S RO % sifaRe Shen e A o= R 6 o W e @

SHEE S TR F SR T 8

Candidates using any kind of unfair means OR attempting to cause disturbances in the

Examinstion Hall shall be liable to be expelled from the Exarnination and hisher performance *
in the Test will be cancelled. : :

& alendf <t =8 Wﬁmmﬁ_@mmmﬁmﬁmﬁg@mﬁ

S, S e e A e

Candidates are required to deposit the only OMR. Answer Sheet at the close of the Examination.

Wﬁmﬁmﬁﬁammﬂﬁﬁ%ﬁaaﬁ@mm_ﬁm
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SCHOOL ENTRANCE TEST, 2017

CLASS : VI
T : VI
Time : Two Hours Maximum Marks : 100
m'#ﬂ'ﬂi’ . | W" 100
. IMPORTANT

Read carefully the ‘Instructions for Answering’ é{vm onthe |
Answer Sheet and answer the questions as directed :

| IR R R T I i e 3 fg e’ e @ i ok

01. Fill up the blank with appropriate article :

Eoin Morgan is ..........., Irish cricketer,
(1) the 2) a
(3) an (4) also

02. Fill in the blank with appropriate preposition ;

We néed a pen to write
(1) en {2) about
(3) for 4 with

Bt T
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03,

04.

03.

o7.

Which of the following is an imperative sentence ?

(1} Feel free to text me in the evening._

{2) Don't you visit your uncle's house during summer ?

(3} India is a land of diversity..

(4) How lovely they are !

Fill in the blank with appropriate verb :

It ........... raining since last evening .
(1] was (2) have been

{3) 1s - (4] has been

Pick out the Abstract Noun from the following options :
(1] Would (2) Doubt
{3) Rohan (4) Delhi

One, who is good at sports ?
(1) Author (2) Athlete
(3) Artist {4) Architect .

What is the rhyming word for 'And’ ?

(1) Sun (2) Bed

(3) Band b R
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08. What is the antonym of the word - INHALE ?
(1) Sneeze (2) All hails
(3) Exhale - (4) Exile

09. What is the meaning of the expression - 'spick and span' ?
(1} Pick and give '

{2) Smart and dirty
(3) Smart and clean
(4) Clean and sure

10. Which of ttl_m following sentence is in future progressive tense ?
(1) I am geing to Delhi now, |
(2] 1shall be going to New York.
{3) 1shall have gone to the market,
{4) Ihave been going.

11. What is the synonym of the word joy is ?
(1) pleasure - (2) movie
(3) picture (4) entertainment

12. Which of the following is a correctly speit word ?
(1) Commitee (2) Committee
(3) Comite (4) Comittee
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13. A baby deer is called a :

(1) Cub (2) Fawn
[3) Strew (4) Colt
14, Shyamis.............. boy in our class.

(1) intelligent
(2) more intelligent
(3) most intelligent

(4) the most intelligent

15. What is the synonym of the word - HARVEST ?
(1) Sow (2) Reap
(3] Plough [4) Furrow

16. What is the verb of the word - EXAMINATION ?
(1] Exam ' [2) Examine

{3} Examinee (4} Examiner

17. Which of the following is a First Person Noun ?
(1) We : (2) They
3] You (4) She

18. What is the Past Participle of the word - PUT ?

(1) Putt (2) Put
{3) Putin (4) Putted



19.

21,

22
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Which prefix would you add to the word - Behave ?
(1) Dis {2) Re
(3) Miss 4) Mis

Which of the following is an auxiliary verb of present tense ?

(1) Was | (2) Had
(3) Will have {4) Are
Name the woman President of India ;
(1) Sarjaini Naidu - (2) Pratibha Patil
(3) Kamala Nk (4) Indira Gandhij
AT W AT ISRy /A
(1) wARFH g (2) sfraT WRw
(3) =mem TS (@) sFe=T e

: Which day of the year is celebrated as 'Children’s Day ?
(1) 5 September - (2) 2 October
(3) 4 January (4] 14 November

‘arer fRaw uRed Pre R S s o ¥ 7
(1} 5 feeae () 2 7ERET
@) 4wl (4) 14 7R
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23,

24.

25.

National rniver of India is -

(1) Ganga (2] Yamuna
(3) Kaveri (4) Godavari
I i ey T 2o

(1) T (2) TG
(3) A (4) TEER

How many players are in one kho kho team ?

@ @ @ & dm F R R 8 ¥ ?
(1) 5 2) 6
3) 9 (4) 12

Who was given the title 'Gurudev' ?
{1} Ma-hatama Gandhi

[2) Sardar Vallabhbhai Patel

{3) Ravindranath Tagore

(4} Subhash Chandra Bose
TEET IATY TREEHT o 7

(1) #Ewsr ey

(2) ©ER IEH g 92

(3) HEAT AR

(4) g T AH
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The last court of appeal in [ndia is :

" (1) High court

(2) Criminal court

(3) Supreme court

(4) Civil court

i B ﬁa-z_ TRa # iR =rEwE @ -

(1) I O

27.

(2) SGTRERE T

(3) water OAmE

(4) QaF rERE

Wheel on Indian national flag has how many spokes P
T & BT Rua 9% &) Rrod Rt E 7 |

(1} 20 (2) 24

3) 26 (4) 28

Who composed Mahabharata ?

(1) Ved Vyas (2) Tulasidas
(3} Premchand (4) .Mirabei

HEATT T = R Y 2 ?

(1} ¥ =g : (2) gﬁ'@ﬁ'ﬂ'ﬁ
(3) e @) tireané
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29,

30.

31.

32. Where the Sun temple in th

How many planets are there is our solar system ?

g A Avse F e e ¥ 7
(1) 7 (2) 9
3 8 (4) 10

Which of the following is not a liquid ?

(1) Water 2y Milk
(3) Qil ' [4) Wood
= ® W O 9w 5 FE 8 7

(1) i (21 g
(3) (@) TN

Which is the biggest continent ?
(1) Asia (2) Europe

(3) Africa (4] North America

He® qBT ABEW P HE 7

(1) ufewE | () 39
3y s (4) Il AL

e form of a chariot is located ?

(1) Assam (2) Bibar

(3] Odisha {4) Maharashtra

10
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35,
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B GLT F oA gd Hike FEf e ¥ 7
(1) orEw 2) e
(@) ofigEr (4) wErUy

Sushil Kumar plays which game ?

(1] Badminton (2) Wrestling
(3) Tennis _ {4) Cricket
g g P A B Rer ¥ 7

(1) e : (2) Fwh
(3) m - 4) B

Which of the following is a neighboring country of India ?

(1) Pakistan (2) Zimbabwe
(3) - Mixico (4} Egypt
FA Y P ar A WK B vErd b7

(1) wfFam (2) Frams
(3) A (4). s (Frm)

What is the name of the capital Jharkhand ?
(1} Jaipur : (2) Patna

(3) Gandhinagar (4) Ranchi

i1
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ARAES W AAYHT FTOAH T E T

(1) SHEYL . (2) "
(3} T {4) TN

36. Which animal is called the 'ship of the desert' ?
(1} Yak (2) Camel

(3) Bull (4) Horse

B8 FET 31 ARG H e HEl Tl € 7

(1) 6 (2) &<

(3) € (4) ST

37. April 14 is celebrate as :
(1} Republic day
{2) Labour day
(3) Teachers' day
(4) Ambedkar Jayanti

s 14 @Y FET O 8
(1) TRl s

(2) Sfs Raw

(3) R e

(@) STETHT T

12
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41.
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Lucknow is situated on the bank of which river P
(1) Gomati {2) Shipra
(3) Satlaj (4) Mahanadi
e e T e w R & 7 |

(1) el (@) fammw

(3) & 4) el

How many mernberéam neminated by the President for Rajay Sabha ?
wEnhT ZRT EdT ¥ R aeer weife B o B 7

(1) 8 {2) 10

(3) 12 (4) 14
Smiallest state of Ind:ié: is :

(1) Goa - (2) Sikkim
{3) Tripura (4} Mizoram
IS & 999 ger e B o

(1) & (2) TafEeeg
@ Bga - (4). e

Rate of 1 kg potato is Rs 5 then e&stof 3% kg potato is :

1 .
1ﬁaﬁfmﬂﬂw%ﬁ,aﬁ35ﬁma@:ﬁm#:
1 I |

1 7z (2) 53

(3) T17 : @) us
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42. Find L.C.M. 4,5,6:

43.

44.

45,

4,5 6% . T TG B
(1) 20 (2) 30

(3} 40 (4) 40

G875 - 1234 x B+ 2 = ..ccvinnurn

wn

(1) 3 (2)
B) 7 4 9
Arun's mother gave him 360. Arun bought 3 maggi packets. Now he

has a five rupee coin, 2 one ruppee coin and one two rupee coin. The
rate of one Maggi packet is :

Wﬁﬁ%@éﬂﬁ@ﬁﬂiwﬁsﬁﬁﬁﬂzaﬂélmmw
wﬁamﬁmﬁi,ﬁlﬁﬁ@%ﬁﬁ%aﬁrwﬁm%ﬁqﬁ%q
o A YT oA B

(1] 713 (2) T15

(3) 17 (4) 718

A rectangular garden has a perimeter 76 m. If width of garden is 16 m

then area of the garden is :
(1} 1120 sq.m (2] 324 sqm

(3) 400sgm (4} 360sq.m

14



46.

47.
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U SRR S & ey 76 HY. ® 1 iy s o el 184, B,
79 TS B e © -

(1) 1120=1.4. @) 324 ..
(3} 400 =14, (4) 360 1.4,
4:17=24.:7 '

(1) 20 (2) 37

3) 5t (4) 102

Roman Numeral of greatest three digit number is :
& it # vEy 5 A9 ge |

(1) XIXIX y (2) CMIXIX
(3) CMXCIX (4] CMIcC

What percent of i day is 36 minutes ?
o R %1 B ufre 36 Pre ¥ 7
1) 25% @) 3.6%

3) 25% (4) 0.25%

In a AABC, £ABC = 30°, ZBCA =75° find ZBAC ?

AABCH , ZABC =230° ZBCA=75° ¥ & ZBAC & 57 971 291 7
(1) 75° ' (2) 50°
(3 oo0° (4) 180°

15
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50. The average marks ol Kunal in five subjects is 80.5. Find the total

S1.

marks of Kunal in all five subjects.
(1) 60.5 (2) 402.5

(3) 425.5 (4) 420.5

HONE | dre et § 80,5 ofvaa ofw Wt faR | TR T & uie fsat
% urer fRY T o of SAEA )

(1) 60.5 | (2) 402.5

[3) 425.5 ' (4} 420.5

If 80 one rupee coins weigh 388 gram, then how much 10,000 coins
weigh ?

(1) 48 kg 500 gm (2) 38 kg 800 gm

(3) 485 kg 0 gm (4) 388 kg0 gm

ST U w98 @ 80 TRt H a9 388 W ¥ oY 10,000 Ryerpl HT 5T
Rbser= & 7 |

(1) 48 .79 500 JH (2) 38 .3 800 A

(3) 485 . am 0 A™ (4) 388 fs.amA 0 AM

16
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54,

58,
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Missing number in the sequence 3, ..,....., 48, 192, 768 is :

FATFA 3, ........, 48, 192, 768 H FuiRym e B :

(1) 8 2) 12

(3) 16 (4) 18

Find HC.Fef 12, 16 and 56 :

12, 16 3T 56 = 9. W. 1. A HT -

(1) 12 (2) 8

{3) 4 4) 2

Sum of the number of edges and faces of a cuboids ié

T & BeT o BT o S s G R
(1) 12 (2) 14
(3) 16 (4) 18

Choose two numbers from the box to complete the division

| ] = | = 11. the numbers are :

4: 5: gr 315 38! 44! 48-' 132- .I

R g0 B B R ww § @ @ gen gy
[+ [ = 11 el deart ¥ -

4, 5,9, 31, 38, 44, 48, 132

(1) 132,12 (2) 99,9

(3) 44,4 | @ 285

17
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56. 2weeks, 3daysand 3 hrs= ............. hours
29EE, 3T ofT 3gue ............ °H9E :
{1) 407 (2) 409
(3} 411 (4) 413

57. Largest three digit number divisible by 29 is :

20 & Rrums & o A TN ad) e ¥ -
(1) 999 (2} 957

(3) 968 (4) 986

58. 18 : 18 on digital clock means :
(1} 6:18 AM (2) 6:18PM

8] 5:42AM 4) 5:42PM

Pt FRefreer ot § 18 : 18 &7 otd & ¢

(1) 6:18 gl (2) 6: 18 UG

. (3) 5:42.3.“@ (4) 5:42 ATEA
RS (AT

(1) 20 ML (2) 200 ML

(3} 2000 ML (4) 20000 ML

18



60.

61.

S_E'-T 17/VI/18l(ii)

20 Tffo =, Liaiiig ?
(1) 20 .. (2) 200 Fy ..
(3) 2000Rv&. (4) 20000 Ry.&.

: ' ' 1
Weight of fresh fish bécomes 3

one fresh fish is 2 kg, then weight of' 15 dried fish in kg is :
] s ; : P

of its weight after drying. If weight of

mmmw-@%_%aﬁ%,@w%ﬁ_ﬁﬁhwaﬂaﬂm
2kg ¥ 79 15 FE AOfdl F1 aor R F §
(1) 5 : o @) 10 |

e

3 15 (4} 30

Which type of objects do not allow light to pass through them ?
(1) Opague object |
(2) Transparent object
(3] Translucent ohject

(4) Glass object

Rre wer #il awgd were B A=Y T 8 B ¥ ?
(1) ergreest (2) areseft

(3) T | (4) @ aweh

19
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62, A device that is used to break an electric circuil 1s called
(1) Terminal (2} Switch

(3)  Insulator (4) <Conductor

Wﬁ?ﬁﬁgﬂﬁﬁqﬂﬁaﬁmﬁ%mmﬁﬂrw%
(1) == f&m (2) Ra=
(3) -aTaies (4) <TH

63. Which gas in the atmosphere supports burning ?
(1} Nitrogen
(2} Oxygen
(3] Carbon-di-orxide
(4} Carbon-mono-oxidie
arreer 1 B o e wmee A wEEs A ¥ 7
(1) TARETE
(2) SATERETSTA
(3) HET-STF-SANFES
(4) FTEAT-TEI-CTRES

64. Which material is not attracted towards a magnet 2
{1} fron (2) Nickel

(3) Wood " (4) Cobalt

20
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67.
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FT A7 9B FEE § A T8l B 7
(1) e (2) Treer
(3) S [4) ERE

By eating soybeans we can fulfill nutritional requirement of :

(1) Carbohydrate (2) Fat

(3) Protein (4) lodine

TN WY B9 b G o @ sy O w ¥ 7

(1) weEEge @ =

(3) s | (@ A
The joint where our neck joins the ;head 1 A,
(1) Ball and socket joint (2), Pivotal Joint
(3) Hinge Joint (4) Fixed Joint
78 HiY e ey B i @ s der R

(1) *g% I witer @y (2) gow =fy
(3) e wHfY (4) R =iy

Which element is necessary for healthy teeth ?

(1) Iron {2) Calcium .
3 Sugar {4) Gold

21
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A1 F RS W B A W O a2 ¢
(i) SR (2) dieaad
(3] =L 4y @

68. Disease caused by deficiency of Vitamin D :
(1)  Scuvy
(2) Beri beri
(3) Loss of vision at night
(4) Rickets
frefi D & arwg & O 8 B
(1) T (2) A" =
(3) At 4) Raea

69. The tolal number of bones in human body. !
w B 9T § W egedl el €
(1) 205 (2) 206
(3] 207 {4y 208

70. Which is not a parl of the flower ?
{1) BSepals (2) Stamens

(3] Pis til (4) Leaf

22



71.
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R RS LR

(1) T (2) g

(3) =EHET (4] U
Essential for living things is :

(1) Eating (2) Drinking water
{Sj Wearing clothes {4) Respiration
Hoftg aggell & R omEwEs § -

(1) v T @) e e

(3) =92 gueT | (4) sET

. Quantity of usable mater on the earth is :

(1) Unlimited | (2) Limited
(3) Ended | (4) Increasing
T ¥ IR B G o S =T <

(1) o ¥ (2) it %
(3) T B 4) T B
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73. Which of the following instrument mcasures the intensity of earth

74.

75.

quake ?
(1] Seismograph (2) Lactometer
(3} Barometer (4) Krescograph

Fr=ifoiga & | S o o= g @ faar qar 8 ?

(1) foeis (2) FEFEEIET
(3) Sex (4) HERIATE
Which of these is not a constellation ?

(1} Orion | (2) Ursamajor
{3) Saturn {4) Scorpins
P 8§ @ P o u ard o o i E 7

(1) onfa= (2) SATET AR
(3) g (4) R
The distance between Delhi and Mumbai is usually expressed in units
of :

(1] Decamecter (2) Kilometer
(3} Meter (4) Centimeter

24
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Redit & gt & dra 1 gt oA B A R

(1) SHEfEY
(3) #Hex

The moon is :
(1) Satellite
(3) Star
T R
(1) e
(3) QAR

Cﬂ&l;ﬂﬂmdndnn'&lgasmaﬂ:

(1] Renewable

(8) Food

i, e A srghe ek

(1) ﬂé’ﬁwﬂtr
(3) wem

5 'I‘heSIu_li;itufspeed is :

(1) m/s
(3} km/g

23

(2)
(4)

@
(4)

2)

4)

“(2)

{4}

(2)
(4)

@)

Criuice
déiieT

Pianet

Comet

Fossil

Hydroelectric

cm/kg

none of above
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oA T OH. AR H AHE
() #/H. @) <.
(3t .. @) @

79. Wﬁich of the following is used to make cément and concrete 7
{1} Lime stone . (2) Sand Stone

(3) Pumice (4) Red Stone

By & @ BT diite At weE a9} ovdn ST & 7
(1) T G @) G R
(3) #iar wET . {4) T 9T

80. Recycle process is not possible with :
{1) Paper _ (2) Plastic
(3) Glass (4j Fuel
g9 =epvl §red wEt B
(1) P H (2) im0
@ #Ew (4 &9 &

81. f=f Rag & HA™ 9w 8 7
(1) 14 F@%EX . (2) 14 THE=X
(3) 14 IFFGHL (4) 14 RE=r

26



83.

85,

87.

SET 17/V1/18{ii} -

L, %S, U, et AT .,

(1) T @ - (2 T '

(3) Ja & o (4) fow @
maﬁﬁw%ﬁﬁmﬁ?%?

mEER T g edww
@G gEm e ) gefifs

aammsﬂw%zﬁ'wmwﬁ‘ﬁaﬁﬁmw&ﬂm%?
u]ﬂE ‘ aTATT Sy R

(3) et wowme o (4) EET -a-n
P o=l & oo & oifiek ot 6 SR s wea B 7
(1) et (2) wwrel
et & & A a1 o gfa % ? |
(1) afe=h T () anh
(3) amert (@) afe. .. .
Few wmyr o Ry %ﬁwﬁh it 2 ?
(1) Hegr - Bk (2) wilRkr
(@) =y ) sl
83. f&=Q avfarer & ww sy Wit Tl ¥ 2
(1) 36 L @82
(3 35 @) 37
27 i
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89. ‘Bei H WA He@EX & Y B
(1) TR 96~ 0
(2) & & e RErl &=
(3) Bl H T T
(4) satas 9" | B

90. & # aoan Tt @ Wid W SR T © 7

(1) HEpd (2) S
(3) frdsht wmn {4) g=r=1

91, YT ) wErl Al St o AU A A H AW W\ ¥ 7

(1) greT-=rd (2) ERT-Hrat

(3) Hop-Hrelt (@) ERT-EY
92. ‘IUCH U H e T % 7

(1) (2) S

(3) =T (4) &

93, YTIEY fhe uER ® s I SWETW 7
(1) TEH (2) TgHT
(3) 2T (4) HHT

94, gl H O TATEErl 9 B
(1) et (2) &Y
(3) st (4) =W

18
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95. FFH B fFay wHre 8lg B 7
(1) = (2) =9
(3) = (4) TS

96. ST o= AT O T W U SEET 8 7
(1) =aRrrarEs 2) nfEEs
© (3) WEEEE (4) FHaras

97. ‘UM W T TG P ¥ AT H wh orew ar B2

(1) &&= (@) Bear
@) oy (4) s
98. ‘NI Arer W ¥’ (. T2 L -
(1) SR il = -
(2) IerBRT
(3) wiRmsam™r
(4) 7 ¥ o ad
99. < <ix g AT § @Y Ty & ?
(1) A= (2) ST
(3) weie - | (@) TR

29
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100, ‘TEEEEr o= E i

(1) TgEarEt . [2) TEHEE
(3) Fr=mei® (4) EfrEys

000
30 =8



